Individual Byte meanings

12
0x11D, 110
Byte 0 1 2 3 4 5 6 7 8 ] 10 11 12 13 1 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30 31 32 33 34 35 36 37 38
11 DA 27 00 02 58 64 00 00 3 00 00 0l 00 00 00 00 00 00 OE 11 DA 27 00 00 39 2c 00 AF OF 00 06 60 20 00 C5 00 08 88
17, 218 39 0 2 88 100 0 0 61 0 0 1 0 0 0 0 0 0 14 17 218 39 0 0 57 44 0 175 15 0 6 96 32 o 197 0 8 136

1 17 00010001
DA 218 11011010
27 39 00100111
00 0 00000000
02 2 00000010
58 88 01011000
64 100 01100100 lower 4 bits are added to byte 5 as the MSB of a 12 bit value of current time past midnight
00 0 00000000
00 0 00000000 Individual Bits, Set = ON, Bit 0 = Fresh Air Supply, bit 3 mold proof, bit 5 Auto Filter Clean, bit 7 Fresh Air Supply High
3D 61 00111101 Always 0x30
10 o0 0 00000000 Always 00
1 00 0 00000000 Bit 3 = 24 Hour On Timer Set
12 01 1 00000001 0x01 = LED normal ; 0x03 = LED dim
13 00 0 00000000 Bit 7 = Intelligent Eye Auto Off set = Enabled
00 0 00000000 Bit 5 (0x10) ) air clean mode on
00 0 00000000 the
00 0 00000000 the
00 0 00000000 always 0x00
00 0 00000000 always 0x00
OE 14 00001110
11 17 00010001
DA 218 11011010
27 39 00100111
00 0 00000000
00 0 00000000
39 57 00111001 Mode  Upperd bits are main mode 0 = Auto Cooling, ito, 2 = Dehumidify, 3 = Cooling, 4 = Heating, 6 = Fan Only, 7 = Auto Heating
2c 44 00101100 Temperature  Valid Range - Auto 18-30, Cool 1832, Dry Cooling 18-32, Heat 1030, Humid Heating 1030,
00 0 00000000 the Heat = 0, Humi 32
AF 175 10101111 upperd bits control Fan Speed (confirmed) 3 = FS1, 4 = FS2, 5 = FS3, 6 = FS4, 7 = FS5, A = Auto, B = Qu Lower 4 Bits Swing vertival 1111=on 0000 =off
oF 15 00001111 upper 4 bits unknown Lower 4 Bits Swing horizontal 1111=on 0000 =off
00 0 00000000 Minutes past midnight for Comfort Sleep Timer and ON Timer, Lower 4 bits of byte 31 are MSB of this 12 bitnumber.  egbyte305etto0xA4 LSB of byte 3Lis OxL, put that ogether it s 0x184, which in decimal is 420. This means 420 mins past midnight whichis 7am
06 6 00000110 MSBis LSB of Off Time Minutes past midnight - see next byte for an example, time is stored in 12 bits, bits 4 thiu 7 of byte 3L and allof byte 32~ isBisMsBinalzbitnumberwihbyed0,seeaboe
60 96 01100000 Off Time Minutes past midright, 1stwo MSB's  egbyte32is 030 and MSB of byte 31 s Ox1, result of combining the 215 0x301, in Decimal is 769, and intime is 1249PM
20 32 00100000 LsB = Poweriul Bt 5 = Outdoor Quiet (confirmed) Only Quiet OR Powerful can be used at the same time, powerful not allowed in auto mode
34 00 0 00000000 Bit 6 = Status Request, set = requested, used with byte 12, 00 Norma powerful
% cs 197 11000101 always UxLs
36 00 0 00000000 Individual bits, set = ON, Bit 1 = Intellieye Position Sensing, Bit3 = Econo Mode, Bit 4 Flash Streamer Air Purifier, Bit 5 Sleep Comfort Timer Bit3 = Econo Mode (confimed)
s 08 8 00001000 always uxus

____ ] 136 10001000 Checksum forbytes 20thiu 37, same formulaas BYe 19

Key: Green is likely complete byte function,
Yellow is likely part byte function, Orange = checksum



